Algebra 2
 






Name: _________________________
Unit 7, Day 15







Date: ______________ Period: _____
Unit 7 Review

Show all your work and reasoning.  Use a pencil and highlight your answers.
	1.  Factor completely across the rationals.  
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	2.  Find all zeros by factoring.  Sketch a graph of 
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, and label all intercepts.
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x = _______________
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x = _______________



	3.  Find the polynomial 
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	4.  Write a polynomial 
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 in the standard (expanded) form equation with the given zeros.

	a)  Quartic, zeros:  x = (3, 
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	b)  cubic, zeros:  x = 0, 
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	5.  List all possible rational zeros, then find ALL zeros of 
[image: image16.wmf]()

Px



	a)  
[image: image17.wmf]32

()34

Pxxx

=+-



[image: image18.wmf]=

q

p


x = ___________________
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	6.  Given 
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 using long division.  
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	7.   Sketch a graph of 
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.  Label all intercepts.  
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Degree: ______      zeros: _______________




	8. Write the standard form equation for each conic section. Graph each equation.
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	9.  Simplify the following.  Answer in 
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